
Mean, Median, Mode and Range 
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1 Find the mean, median, mode and range for the following set of numbers

1, 20, 15, 8, 7, 8, 7, 11, 11, 1, 8

Give your answer for the mean to 1 decimal place. 

[4 marks]

Mean:

Mode:

Median:

Range:

2 James has a number of 6 kg sacks of carrots, and a number of 16 kg sacks of 

carrots. 

The mean weight of the sacks of carrots is 12 kg. 

What is the least number of 6 kg and 16 kg sacks of carrots that James has?

[3 marks]

Answer

Turn over for next question

Turn over ►

7
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3 Christopher has seven rabbits in his garden. 

Their weights, in kg, are listed below.

1.1 1.9 1.5 1.3 2.0 1.3 1.7

3(a) Calculate the mean, mode, median and range for this data.

Give your answers to a suitable degree of accuracy. 

[4 marks]

Mean:

Mode:

Median:

Range:

3(b) Two of the rabbits are put in their hutch.

The average weight of the remaining five rabbits is now 1.6 kg. 

Find the combined weight of the two rabbits that were put in their hutch. 

[3 marks]

Answer

Turn over for next question

Turn over ►

7
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4 Sarah earns £8.43 an hour. She thinks that most of her friends are paid more. 

Here is a list of how much her friends earn per hour. 

By calculating the mean, median and mode for her friends pay, investigate if Sarah is 

correct, giving an explanation for your answer. 

[4 marks]

Answer

Turn over ►

4

Jenny £8.40 Simon £8.55

Helen £8.48 Jane £8.48

Peter £8.29 Amy £8.44
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5 Jane recorded the time taken, in minutes, for her friends to complete a jigsaw (to the 

nearest minute). 

The times taken are shown in the bar chart below.

5(a) Find the mean time taken to complete the jigsaw.

[3 marks]

Answer

5(b) Find the range of times taken.

[1 mark]

Answer

Turn over ►

4
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6 Sally has 4 cards taken from a deck of 10 cards labelled 1 to 10, as shown below: 

The range of the cards is 8

The median of the cards is 6

The mean of the cards is 5.5

6(a) Sally already knows the number 4 is not one of her three cards as it is missing from 

the deck. 

Find the 3 missing numbers 

[3 marks]

Answer

6(b) Sally adds one more card to the set. 

The median of all 5 cards is 6.

What number card did she add?

[1 mark]

Answer

End of Questions

END

4
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